Review

Unit 3: Linear Functions
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Remember to study ALL of unit 3! Review your notes, the linear equations book, old homeworks, unit 3
mid-unit test, and quizzes. This review should not be your only means of studying!

1. The graph below shows the relationship between the total cost of renting games and the number of games

rented. What does the\gl_gé_g‘ represent?
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A, The number of games rented it takes to have a total cost of $80
(_B.~ The costipergame rented

€. The initial cost of renting a game = “ 1/}

2. A graph is shown below.

D. The number of games rented rf_ié;}dollar spent

Which of the equations are represented by the graph?
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3. The value of y varies directly with x. Which function represents the relationship between x and y if y = 175
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5. Adam purchased Snickers chocolates for $5 a bag and Skittles for $3 a bag. The inequality Sx+3y <30 can

be used to determine the number of bags of Snickers, x, and the number of Skittles, y, Adam purchased for
less than $30, not including tax. Which of the following ordered pairs best represents a reasonable combination
of bags of Snickers and Skittles that Adam could have purchased'? A \/\L] N 00\ n {g
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6. Nick drew the graph below. Joe drew a line that is pa re1 to ick’s line but is shifted 2 units down along the
y-axis. T Same )\\'\05.\

Which function would best represent Joe's line?

K F(x) =%x+1 [H ) =%x+1

G f(x):%x—l I)~..’f(x)=-%x+1



7. In the xy-plane, the equation of line g is 2x —y =3 . Which of the following is an equation of a line
perpendicular to line g?
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8. A plumber charges $50 down payment plus $21.50 f i a@h hour that he works. Which sentence could be

used to find C, the cost in dollars for a house visit and h, hours of work?

A C=(50+21.50)h (e 50 + 21.90h

B.  C=50h+21.50
@ C =50 +21.50h \{'\(\Y dowvi P W\t’/\/\*
D.  C=(50-21.50)h Y): COS$Y P NOuY

9. What is the coordinate point of the x-intercept of the equation 2x -6y = 47?
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A (-6,0) 2wl

B (2,0) ~ 2

c(0,4)

D (4,0)



10. \_Nhich is the best representation for the linear inequality y

Py

11. The function g(x)
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A The function g(x) =f(x)+3
B The function g(x) = f(x)
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. C) The function g(x) =f(x)-3
"D The function g(x) = f(x) +1
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is graphed below. Determine the effect on the graph of the parent f(x) = x to get g(x).

N=X (pavent fun Chion)

DOWN 5
(swbtract!!)



12. The table shows the amount of money Courtney spends on different quantities of candles.
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13. What is the zero of the linear function graphed below?
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14. What is the equation in standard form of the line that passes through the point (3,3) and has a slope of -

0.8? W= .9
s e 4 ro2) = 2

!\B\4x + 5y =27 . ] .
Q! 4x — 5y = 80 L,/D 4&?)\ “"(;)\?)> = -3

,_D}. 4x — 5y = 80

15. The graph of the line p represents y = 3x -1, If 10 is added to the line p to create line r, which statement

about the graphs of the two lines is true? , ) _
(= P+ 10 Same Slope =

F_ Line rintersects line p.

G) Line ris parallel to line p. \":'/5)(-—\\) +10 | C \—BY@HE‘ i
(H) Line ris 10 units above line p. ~ 10e
3 Line ris 10 units below line p. v = 2K -+ 61 i

16. The graph below shows the water level in a tank being drained at a constant rate.
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If the rate at which the tank is drained is changed to 1 inch per hour and the initial water level stays the same,
how would the time it takes to empty the tank be affected?

O 1t would take 4 fewer hours.
B _ It would take 1.5 more hours.
¢/t would take 6 more hours.

B It would take 2 fewer hours.
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17. Fing})the slope of the line that passes through the points (6, 2) and (4, -4). m= Y2 ~~|\ _ ~ 4 2
¥ 2, | X 5
What is the slope of a line parallel to the above slope? 3 2 < N
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